
CRITICAL THINKING



CATEGORICAL LOGIC QUIZ
1)
When you translate a sentence into Standard Form in Categorical Logic, the result is:  
a. A corresponding claim (any type).

b. An equivalent claim (same truth conditions).

c. A sentence that contains the same subject and predicate class.
d. b. and c.
e. None of the above
2)
If you needed to write the sentence “Woodpeckers sing really well” in Standard Form (according to Categorical Logic), which would do it best?  

a. Woodpeckers sing really well.
b. Woodpeckers don’t sing at all.
c. All woodpeckers sing really well.
d. Some woodpeckers sing really well.
e. All woodpeckers are really good singers.
3)
Consider the claim “Some music lovers do not perform.”   If you wanted to translate it into Standard Form, which subject and predicate classes would be best?
a. Subject class: music lovers, Predicate class: music haters.
b. Subject class: music lovers, Predicate class: non-music performers
c. Subject class: music performers, Predicate class: music lovers

d. Subject class: music lovers, Predicate class: music performers

e. None of the above
4)  
Given the sentence: “Some people are people who like him,” which of the following would not be a corresponding claim?
a. No people are people who like him.
b. Sam doesn’t like him.
c. Some people are people who don’t like him.
d. All people are people who like him.
e. None of the above

5)
Consider the claim “People who purchase cell phones are less likely to smoke.”   Which of the following would be the partial/negative claims in Standard Form?
a. People who purchase cell phones are not people who don’t purchase cell phones.
b. All people who purchase cell phones are not people who don’t purchase cell phones.
c. Some people who purchase cell phones are not people who are less likely to smoke.

d. Some people who purchase cell phones are people who are less likely to smoke.

e. None of the above
6)  
Given the sentence: “Some people are people who like him,” which of the following would be universal and negative in Standard Form?
a. Some people are not people who like him.
b. Sam doesn’t like him.
c. All people are people who like him.
d. No people are people who like him.
e. None of the above

7)  
Consider the sentence: “Some people are people who like him.” If you know that the sentence is false and were asked truth value of the claim “Some people are not people who like him” what should you say that it is?
a. True
b. False
c. Undetermined
d. You can never determine the truth value of a claim that corresponds to another claim in Categorical Logic Standard Form.
e. None of the above

8)  
Consider the sentence: “All people are people who like him.” If you know that the sentence is false and were asked the truth value of the claim “Some people are not people who like him” what should you say that it is?
a. True
b. False
c. Undetermined
d. You can never determine the truth value of a claim that corresponds to another claim in Categorical Logic Standard Form.
e. None of the above

Read each of the following sentences.  Then select the option which shows the Venn Diagram that represents that sentence.
9)
“All children like playing in the sand.”
a. Dictionary: C  - sand playing children, H  - children who hate sand

[image: image1]
b. Dictionary: C  - all children, S  - some children

[image: image2]
c. Dictionary: C  - all children, S  - some children

[image: image3]
d. Dictionary: C  - children, S  - people who like playing in the sand

[image: image4]
e. None of the above
10)
Some people are allergic to peanut butter.
a. Dictionary: P  -  people, A  - all non people

[image: image5]
b. Dictionary: P  - people, A  - Allergic to peanut butter

[image: image6]
c. Dictionary: P  - people, A  - Allergic to peanut butter

[image: image7]
d. Dictionary: C  - all children, A – Allergic to peanut butter

[image: image8]
e. None of the above
EXTRA CREDIT:

Construct a Venn Diagram of the premises of the argument and use it to decide whether the argument is valid or invalid.
All A is B.

All A is C

All B is C

[image: image9]
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